|—qn

CONTINUOUS EXTRUDED
ALUMINUM PAN NOSING
(12A354000)
CONTINUOUS SEALANT

22 11/16"

AND BACKER ROD

205/8"

(NOT BY CS)

I
CONTINUOUS EXTRUDE[X

ALUMINUM BASE FRAME
(12A386000)

#8x3/4" S.M.S, FACTORY
ATTACHED AS REQ'D
(90H053002)

19 1/16"

4"x4"-W2.9xW2.9 REBAR
MESH, RECOMMENDED FOR
CONCRETE FILL (NOT BY CS)

#12x3/4" TEK SCREW,
CONCRETE INFILL FACTORY ATTACHED
(NOT BY CS) _\ AS REQ'D (90H350002)

€ CONTINUOUS EXTRUDED
/_ ALUMINUM HINGE NOSING

V)

(12A572000)
7 7

SEALANT

(NOT BY CS)

<.

21/2"

I

a .

T
N

NON SHRINK GROUT —/|

(NOT BY CS) A BEARING (12M255005)

1/4"x2 1/4" SCREW BOLT + 18" O.C. 47
(90H244004) (FIN: ZINC)
ICC-ES#-ESR-4042 (MASONRY)

3/4"@ HDPE PAN —/

AA'

LENGTH
(90H178004)

DRIVE, 5 PER 10"

A = 3/16"x1 1/2" SPLIT
<

ICC-ES#-ESR-3889 (CONCRETE)

7 111116"

12 5/16"

1/4" CONTINUOUS HDPE
EDGE BEARING 4" WIDE

16 5/8" CONTINUOUS
(80S075011)

EXTRUDED ALUMINUM
MODULAR PLATE (12A360000)

A

(90H044004) (FIN: BLUE P/S) A
ICC-ES#-ESR-3068 (MASONRY)
. < .

1/4"x1 3/4" TAPPER 18" O.C. —/ .

3/16" CONTINUOU.S HDPE '
SLIDE BEARING 2 3/4"

WIDE (80S010011) A

3/16"x1 1/2" SPLIT DRIVE, —/
3" FROM EACH END &
18" 0.C. (90H178004)

b
NN

2 HRFIRE
BARRIER

12"

© (12A571000)

" | ICC-ES#-ESR-4042 (MASONRY)

4

LATERAL SLIDE BEARING
(12M308005) AND SPRING
PIN (90H212010)

CONTINUOUS EXTRUDED
ALUMINUM HINGE FRAME

A<

3/8"x2 1/2" SCREW BOLT + 18" O.C.
(90H243004) (FIN: ZINC)
ICC-ES#-ESR-3889 (CONCRETE)

<

(90H244004) (FIN: ZINC)
ICC-ES#-ESR-4042 (MASONRY)
ICC-ES#-ESR-3889 (CONCRETE)
|

1/4"x2 1/4" SCREW BOLT + 18" O.C.

Model: SSRW-1200LS W/ FB

. . e | PROJECT: ||scaLe:  nts
Construction Specialties
www.c-sgroup.com | cusToMER: || ATE:
6696 Route 405 Highway, Muncy, PA 17756

Phone: (800) 233-8493 / Fax: (570) 546-8022

895 Lakefront Promenade, Mississauga, Ontario L5E 2C2 Canada
Phone: (888) 895-8955 / Fax: (905) 274-6241

© Copyright 2018 Construction Specialties, Inc.

| LocaTiON:

|| soB NO.:

DRAWN BY:

SHEET NO.:

12/16/2019 10:29 AM




